Shown below is a sensitivity report produced by Excel Solver for an LP problem with 3 decision variables (x_1, x_2, x_3) and 5 constraints (cons1, cns2,cons3, cons4, cons5).
[image: image1.png]E3 Microsoft Excel - N-5_0351_LP-ASC.xls

W) Fe £k vew Det Fomet Do Dt Safro Widow e AdoboPOF vemove name box e x
DEEA8 GRY $RB- - @=-4 % W -DEEv:. E
arisl -1 - B ZU B s %, %% ¢ Se B v A~ putoFomat. B A &7 - | @ omw. K
L34 - A | m
A B C D E F G H | B [5]
5
6 Adjustable Cells
7 Final Reduced Objective Allowable Allowable
8 Cell Name Value Cost Coefficient Increase Decrease %
© C$4 x 1 750 0 25 1E+30 0.7 E
10 D$4 x_ 2 200 0 1.2 1.3 1E+30 o
11 E$4 x_3 50 0 1.8 0.7 1E+30 %
12 ;
13 Constraints 3
14 Final Shadow Constraint Allowable Allowable L
15 Cell Name Value Price R.H. Side Increase Decrease %
16 G$7 cons1 750 0 600 150 1E+30 @
17 G$8 cons2 200 -1.3 200 150 200 %
18 G$9 cons3 50 -0.7 50 150 @
19 G$10 cons4 50 0 10 40
20 G$11 cons5 1000 2.5 1000 1E+30 %
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Answer the following questions:
5.1)  (2points)  If we increase the coefficient of x_2 in the objective function to 2.45, what would be the resultant optimal value of x_2?

5.2)  (2points)  If we increase the coefficient of x_2 in the objective function to 2.6, what would be the resultant optimal value of x_2?

5.3)  (2points)  By how much can the coefficient of x_2 be decreased without changing its LP optimal value?

5.4)  (2 points)  If the RHS constraint of cons3 is increased to 60, what would be the numerical change in the LP optimal value of the objective function?

5.5)  (2 points)  If the RHS constraint of cons4 is increased to 45, what would be the numerical change in the LP optimal value of the objective function?

